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1. Find two numbers w whose sum is 37 and whose product is aimaximum.
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. 4. A taxi service operates between two airports, transporting 300 passengers '3
day. The charge is $8.00. The owner estimates that 20 passengers will be lost -~

for each $1 increase in the fare What charge would bé most profitable for the \‘
service?
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5. The steamship, The Golden Conifer, is rented to take 100 campers to Pine
Mountain. The fare is $5 per camper. The steamship company has agreed to

reduce the fare by two cents per passenger for every camper over 100. How
many passengers will produce a maximum rental for the company’?
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